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QUESTION 1

On which type of nodes can content rules be defined? (Choose two.)
A. Content.

B. DataList.

C. Folders.

D. Person.

E. Aspect.

Correct Answer: CD

QUESTION 2

You want to execute a query in Alfresco Full-Text Search that returns only nodes with a custom text property
my:property that exactly matches 1000. Which query would be correct?

A. The correct query is: my:property:1000

B. The correct query is: =my:property:1000
C. The correct query is: !my:property:1000
D. The correct query is: ~my:property:1000

Correct Answer: A

QUESTION 3

Which web script object can be used to retrieve the values of web script parameters specified in-line within the URL
path, within FreeMarker templates and JavaScript code?

A. url.templateArgs
B. url.args

C. arguments

D. args

Correct Answer: D

QUESTION 4

Consider a static content model loaded at bootstrap that defines a property called "xyz". The property "xyz" is deleted
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from the content model and the Alfresco server is restarted. Which statement is TRUE?
A. The server will refuse to start up and you must review the alfresco.log.

B. There are no effects upon nodes that have the "xyz" property.

C. You can still access values for property "xyz", but it is a residual property.

D. The values for "xyz" disappear as though they never existed.

Correct Answer: C

QUESTION 5

Which statement would return the username of the currently logged-in user?
A. session.userName

B. session.properties['cm:userName"]

C. person.userName()

D. person.properties.userName

Correct Answer: D

References: https://community.alfresco.com/thread/166713-javascript-name-of-current-user
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